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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Write in detail the structure of Indian economy by

explaining its features.



 

2. What is meaning of planning ? State the objectives of

planning.



3. How financial  resources are allocated  between  center

and  the  state  in India ?  Is  it satisfactory ?




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4. Explain the nature, causes and magnitude of

unemployment in India.

        



5. Discuss the process of plan formation in India.



Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 

1. Explain the infrastructure development in India.

 

2. Discuss the role of natural resources in economic

development.


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3. Explain the concept national income.



4. What is planning ? What are the main features of

planning ?



5. Write a short note on vicious circle of poverty.



6. Point out the adverse effects of rapid increase in

population.



7. Discuss the population policy in India.



8. Discuss the main difficulties in measuring national

income.



**************


